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Note: Answer any FIVE full questionsffi*qaslzg ONE fuL questionfrom each module,

l a. Define i .,",_,, 
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iii) Unilateral and bilateral circuit. (;," (06 Marks)
b. For the circuit shown in Fig.qt0) determine resistdce between M and N using star/delta
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2 a. Deri*ffibxpression for cffie$ffng Delta to S!ar.,.1 (06 Marks)

b. Detqfmine potential diffdreircb between ltffi" N using source transformation of circuit

*..s.hpwn in Fig.Q2(b). - .* iS .*Tl',.",,rL,1lNrUH' - ,"".." ];i:+tT. ^rA

ror tne clrcult sno\{n,EI''f lg.ql(D, oetefimne resl
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c. Use node voltage analysis to.find node rolt g"r i
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Fig.Q2(b) (06 Marks)
c. Use Mesh current anafy-sjffi find the 

",rir"nt'fio*ing 
in 30C) resistor of circuit shown in

Fig.Q2(c). 
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(06 Marks)

(07 Marks)
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c. Use Milliman's theorem to find the circuit shown in Fig.Q3(c)'

Fig.Q3(c)
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For the network shown in Fig.Q6(b) switch is closed effiry. Determine current and its first
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c. For the R - L circuit shown in rig{qGF}rubtain the r
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State andprtlkrrinitial value theoremu S (06 Marks)
Find tkiitkrse Laplace transforrq@tlfik" 
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c. For the network shown in FigQT(c), draw the taffipnth circuit and'ffiin the expression
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c. Find the initial and final wlue of following functions :

i) v(s)= =t'1=1ti.2' t \P/' 
s3 + 3s4t3s + 1

ii) V^(s) = 10

' z' s(s+3)
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Mod,ule-S

9 a. A 3 phase supplywith linevoltage of250Vhasa
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connected load as shown

phasesequenceABC'
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b. An unbalanced 4 wire star

sequence ABC, calculate th
iffi# a balanced#*inv of 400V' For the phase

,tc an; rnrnl nower of fi6 circuit shown in Fig.Q9(b)'and total power qf fi6 circuit shown in Fig'Q9(b)'
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